
A. 4.0  B. 4.5  C. 1.5  D. None of these 

 

Question: Let Y = minimum of {(x+2), (3-x)}. What is the maximum value of Y for 

0 ≤ x ≤ 1? 

(a) 1.0  (b) 1.5   (c) 3.1  (d) 2.5 

 

   

 

  

1. 2,994                        2. 1,993                         3. 3,992                      4. 994 

 

Question: In Indore, Annapurna area has 2000 telephone subscribers and 

government collects fixed charges of Rs. 280 per month from each subscriber. 

The government proposes to increase the tariff and if it is forecasted for each 

rupee increase, there will be an equivalent amount of subscribers discontinuing. 

So, what increase will bring maximum revenue to the government? 

1. Rs. 1140                  2. Rs. 860                      3. Rs. 1720                    4. Rs. 1000     

 

Question: If a + b + c = 30, what is the maximum value of (a + 3) * (b - 2) * (c + 

5)? 

1. 1,000                        2. 2,197                          3. 1,331                        4. 1,728 
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